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AN HEdEAEIFD

O HE HAE KL(MIZX/=0 - FaH)
el 344 84 T8 24 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 BIZHHAIE RS 30,000 0 30,000
O&FEAYE NEXN el & K35 30,000
10 A2l S X2 X 100,000 50,000 50,000
O&¥A2YE 2T Z2XE 50,000
O&FEAYE NESAEH 50,000
Fagogugs=s 23 243t 143,000 143,000 0
307 21201 A 143,000 143,000 0
10 AFRISXIE X 143,000 143,000 0
OFaAHHY EES=S 29 120,000
OLdAHAY AMOIHIEOIY 29 14,000
OFAY LM 9,000
S22 ANE FLAHRIRARSE 2Z(=21) 33,000 41,250 A 8,250
J| 32,000
< 1,000
307 21201 A 2,000 2,500 A 500
J| 1,000
< 1,000
10 A2l =S X2 X 2,000 2,500 A 500
OZ3+8AE FLAU2IHAs 29 2,000
J| 1,000
< 1,000
308 XXM SOl A 31,000 38,750 ANT,750
J| 31,000
01 IXNHHBNEES 31,000 38,750 AT,750
OANZ B23=8AE FAU2IARS 24 31,000
J| 31,000
AN HAEF0HAAS 2L(=12) 33,200 41,500 A 8,300
J| 29,200
< 4,000
307 212+0| & 8,000 10,000 2,000
J| 4,000
< 4,000
10 AFRISXIEX 8,000 10,000 A 2,000
OFA~Y FHWAAS 2¢ 8,000
J| 4,000
< 4,000
308 A EHSOIA 25,200 31,500 A 6,300
J| 25,200
01 AXSHBLAEES 25,200 31,500 A 6,300
OFAYE FOUHRAAS 2 25,200
J| 25,200
ANLHLESSIEMH 2L (Z2) 369,000 289,553 79,447
J| 110,700




AN HEdEAEIFD

FH: Ol A= F24dE S (MIEX/20 - FAaH)
Sl HAW S8 T2 29 (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

< 258,300

307 21201 A 369,000 289,553 79,447
| 110,700
< 258,300

10 A3l S X2 = 369,000 289,553 79,447
oXNgHEAHESIELH K& 369,000
| 110,700
< 258,300

NSHAHSSTELME ALXR(2D) 246,000 193,035 52,965
J| 73,800
< 172,200

307 21201 A 246,000 193,035 52,965
| 73,800
< 172,200

10 A2l =S X2 X 246,000 193,035 52,965
oXNgFAHEBSINALH XA 246,000
| 73,800
< 172,200

Z24UANE D278 29 (22) 36,700 80,600 43,900
| 35,000
< 1,700

307 glz2tol & 3,400 3,400 0
| 1,700
S 1,700

10 AtSI =S X2 X 3,400 3,400 0
OSsFAUESBEANE T2 29 3,400
J| 1,700
< 1,700

308 XtXIEHH SOl A 33,300 77,200 243,900
| 33,300

01 IXNHHEBANEES 33,300 77,200 243,900
O3 AEAANE Z208 29 33,300
| 33,300

SSEANE FAEXNSA BIXI(22) 382,440 359,520 22,920
| 363,000
< 19,440

307 gl2tol & 38,880 38,880 0
J| 19,440
< 19,440

10 A2l =S X2 X 38,880 38,880 0
OFALEXIZ A BIXI XI& 38,880
| 19,440
< 19,440

308 AXIEtM S0l A 343,560 320,640 22,920
| 343,560




AN HEdEAEIFD

H: Ol 85 4 4 (MEI=SX/20 -

o9 Had sS4 DElYy 29

0]
b
m

~

% S 4 14
SA - EB B (3H) - NSAY %Ei HR=2

01 IXHHNIMNEXS 343,560 320,640 22,920
OFAEX S AL BHXI K& 343,560
Jl 343,560

HAHE 23E 2Y(=21) 119,000 170,000 A 51,000
J| 95,200
=} 23,800

308 XX SHHSOIH 119,000 170,000 A51,000
J| 95,200
= 23,800

01 X HHINMNEEXTZ 119,000 170,000 A51,000
OFAURTIE 29 119,000
J| 95,200
= 23,800

HAE S0ol2 #s(=21) 15,000 30,000 A 15,000
J| 12,000
o=t 3,000

308 XX EHSOlIA 15,000 30,000 A 15,000
J| 12,000
o 3,000

01 AIKSHHEMNEX= 15,000 30,000 A 15,000
OFAHE =0t =14 15,000
J| 12,000
= 3,000

OlSZAEAEM XA E23(Z21) 8,000 0 8,000
J| 4,000
= 4,000

307 QI2t0| & 8,000 0 8,000
J| 4,000
= 4,000

10 Al SR EX 8,000 0 8,000
OXMAEHAM XNAEZ23(HAEM 149) 8,000
J| 4,000
= 4,000

HAUEES L HE EE 4,358,030 4,307,145 50,885
= 931,528
Jl 1,903,782
= 132,000
& 1,390,720

AQHE FAY EXSA 95,000 95,000 0

307 212t0| & 23,000 23,000 0]

10 MM ESEXEX 23,000 23,000 0
OFAHE OHY & X 15,000
OHIE RS W S0l & A 8,000

308 MXISHHMSOIA 72,000 72,000 0




PH HEFEAEIED
HH: Ol 45 4 SH(MIISX/L0 - 34 H)
O9: HAUES U NG BS (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 IXNHHBANEES 72,000 72,000 0
oHlE@ st X& 72,000
FAaE HdE BS 54,000 52,000 2,000
201 Let24d]| 5,000 3,000 2,000
01 At 2teltl 5,000 3,000 2,000
OYAE SHDEAYY NALAS 29 5,000
307 glz2tol & 49,000 49,000 0
10 At =S X2 X 49,000 49,000 0
Ostl=g Hg==z# 30,000
Ostugdsy etZ=z2 e 10,000
OSLeHaE A SIS =M 9,000
FAEME=ENEH 29 340,000 300,000 40,000
& 132,000
< 208,000
307 glz2tol & 300,000 300,000 0
& 132,000
< 168,000
10 A3l =X 2 X 300,000 300,000 0
oFaAEAdESEIHE 2 300,000
=2 132,000
< 168,000
402 RI2HXt20l ™ 40,000 0 40,000
01 2I2tXR2E X 40,000 0 40,000
CFEA2GLAHEEXNEH 223 Ha 40,000
HFiod SUTHAY 2Z(=21) 362,080 336, 131 25,949
J| 287,611
< 74,469
307 glz2tol & 148,938 146,582 2,356
J| 74,469
< 74,469
10 AtEI =S X2 X 148,938 146,582 2,356
oGS EZZONY 29 148,938
J| 74,469
< 74,469
308 XXIEHHSOIA 213,142 189,549 23,593
J| 213,142
01 IXNHHBAMNEES 213,142 189,549 23,593
CHEAUSEAHEZOY 29I 213,142
J| 213,142
HLAGSEXNEMA 25 XNE(=2) 852,700 894,900 A 42,200
J| 676,700
< 176,000




2N

g 8 H44d SH(MISA/E - HA4)
Yl HAEES U T BE (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 361,360 419,500 A 58,140
J| 185,360
< 176,000
10 A3l =X 2 X 361,360 419,500 A 58,140
O FAUSEXNIAMATS 361,360
J| 185,360
< 176,000
308 XtXIEHHSOIA 491,340 475,400 15,940
J| 491,340
01 X HHILEXS 491,340 475,400 15,940
OANZ BAUSENIANATS 491,340
J| 491,340
HAdalg 29(2D) 752,502 728,614 23,688
J| 376,251
< 376,251
307 glz2tol & 752,502 728,614 23,888
J| 376,251
= 376,251
10 Al =X 2 X 752,502 728,614 23,888
OSII=E (20 L) 394,166
J| 197,083
< 197,083
OZ&IIEH (2MHA) 215,000
J| 107,500
< 107,500
OLAIEHE (10 L) 143,336
J| 71,668
< 71,668
HAUMSSME 23 29(2D) 420,000 534,000 A 114,000
J| 280,000
< 140,000
307 21201 A 280,000 417,000 A 137,000
J| 140,000
< 140,000
10 A3l S X2 = 280,000 417,000 A 137,000
T UL ESHE ZX - 29 280,000
J| 140,000
< 140,000
308 Xt M S0l & 140,000 117,000 23,000
J| 140,000
01 HXNHHBHELS 140,000 117,000 23,000
OANZ B3LEFH2SHHEH &X - 23 140,000
J| 140,000
Had gusotatdiol 2g9(=1) 992,500 957,000 35,500
= 880,500




M O EAEIIED
HH: Ol 45 4 SH(MIISX/L0 - 34 H)
o9 HAUES U NG BS CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 112,000
307 21201 A 224,000 215,000 9,000
=2 112,000
< 112,000
10 A3l S X2 = 224,000 215,000 9,000
& gu= otstolol 24 224,000
2 112,000
< 112,000
308 AAIEHHSOIA 768,500 742,000 26,500
= 768,500
01 HXNHHNBHELS 768,500 742,000 26,500
OAlZ &= Of3t0iol =249 768,500
= 768,500
HAURMSE HA(2D) 44,000 44,000 0
= 22,000
< 22,000
307 glz2tol & 44,000 44,000 0
= 22,000
< 22,000
10 A3l =X 2 X 44,000 44,000 0
OFALERMNSIZAL B2 34,000
= 17,000
< 17,000
OFAURMNSIZAE Z2AE2s 24 10,000
= 5,000
< 5,000
FAERHSZ LA 208 XA(Z1) 29,028 0 29,028
= 29,028
307 glz2tol & 29,028 0 29,028
= 29,028
10 AtEI =S X2 X 29,028 0 29,028
OFAYE FoiEIZAY B2 XN 29,028
= 29,028
Hamad g XNE(22) 346,220 292,500 53,720
J| 283,220
< 63,000
307 glz2+ol & 210,000 156,000 54,000
J| 147,000
< 63,000
10 A3l S X2 = 210,000 156,000 54,000
ostggst a4 NE & SEXNE 210,000
J| 147,000
< 63,000
308 XXM SOl A 136,220 136,500 A 280




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
J| 136,220
01 IXHHIMNEXZ 136,220 136,500 A 280
oOstd=sH AW Xg & SHXJ 136,220
J| 136,220
HAESLEALE Js & 29H4A 70,000 73,000 A 3,000
307 giztol A 70,000 73,000 A 3,000
10 Al SXIEX 70,000 70,000 0
OFAEFEANAE Jls € 2HMHH 70,000
HAUE £EAE &= 1,840,900 6,855,200 A5,014,300
2 1,620,000
=} 220,900
HAESEANLE B2(21) 1,054,000 578,000 476,000
2 864,000
& 190,000
402 12t XHE0| & 190,000 228,000 A 38,000
02 SI2HCH &AM HI 190,000 228,000 A 38,000
OLUREHAUELAHAD AlE HE 190,000
403 XX SHS K201 & 864,000 350,000 514,000
= 864,000
01 XIS A2 X 864,000 350,000 514,000
OFAELBEANALE JsEY 864,000
2 864,000
HAERSOZ AHE(=21D) 786,900 1,436,700 A\ 649,800
2 756,000
& 30,900
403 XX SHS K20 & 786,900 1,436,700 A\ 649,800
2 756,000
& 30,900
01 XIS AZ2E X 786,900 1,436,700 A\ 649,800
OFHAERFIOE HY 786,900
2 756,000
= 30,900
HELSIYAH(HAEEAEIIZS)(IIEH/DIE 39,200 35,000 4,200
Jl2 &l 39,200 35,000 4,200
EH2Y9 J24H| 39,200 35,000 4,200
201 et Y| 25,000 25,000 0
01 AP 2t 2] d| 25,000 25,000 0
OBANS&YE AR 22lHI| 25,000
202 044l 10,000 10,000 0]
01 2L I 10,000 10,000 0
229 20 10,000




2N H8EAEIIFH
HH: HELSYAH(HAZHAEHINS D) (IIEH/DIE)
el Jl=2d

x 5 - 4

SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
203 R =&l 4,200 0 4,200
04 FN2ELSZ=TH 4,200 0 4,200

©302! 0I5t 350,000& 12 4,200




